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Degree Examination, September - 2021

COMMERCE
Performance Management
(CBCS Semester Scheme)

V1 Semester B.Com.

Maximum Marks : 70

' glish.

SECTION-A

Qeen - »
Answer any Five sub-questions, each correct answer carries 2 m
,8 ROCIRT VITE, 2 eS0TSO,

BRRTIETR WD OB-B,Z NN 3 0R. T

arks. (5%2=10)

1. a) Whatdoyou mean by divisional performance ?

DLToNecdd ﬂcﬁJFﬁthDé DOTTERD ?
b) Define activity based costing.
2383053638 5003 2323 HEJ‘D?-L DOTTER0 ?
¢) Whatis flexible budget ?
3o £503053,0 DOTTER2 ?
d) Whatis life cycle costing ?
2203 238, TOROTT 0BT ?
e) Whatis Break even point 7
ReOA 2 290730 DOTTERD ?
f)  Whatiszero based budget ?
AC 573003 Bo:bssﬁodo DOTBERD ?
What is contribution ?

g)
2nEIN ROV ?

[PT.O.
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SECTION - B
o - 0
Answer any Three questions, each correct answer carries 6 marks. (3%x6=18)

BRRYTIETR Rawedd T,Z RN GVIOA. 2,8 TOIRT LT 6 eHOBNSD.

2. Explainthe principles of target costing.
oD SBE 353@53% WNWOA.

3. Using the following information calculate
a) Labourcost yarience
b) Labourrate yarience

¢) Labour etficency varience
Standard hours - 20000 hrs

Actual hours - 2500 hrs.
Standard wage rate - Rs. 15 per hour

Actual wage rate - Rs. 12.5 per hour

23 BYNT SIS0V '

a) 3,50 RBYRI3,00

b) 3RTTHE,CD

c) gmmmqsﬁraﬂﬁa’iod:mdiﬁmc&&&ma.
2, @688 NoLnsd - 20000

SR MOLNSD - 2500

R, BREIS 3ndT06 - Rs. 15 &8 nodn

RS 8R0S - Rs. 12.5 5,3 rtodnt

4 The following information relates to a firm :
Selling price per unit Rs.25
Variable cost per unit Rs.20
Fixed cost Rs.75,000

Find out:
a) BEPinunits and in amount

b) Find outselling price per unit if BEP is brought down to 2,000 units.
23 FOAT BRLENED WO ﬁoﬁmﬁ Fowo a‘.:asutﬂ.

oot B¢ 5,8 ot Rs.25

WRNTHB I8, T8 o3t Rs.20

A0 SWNFO Rs.75,000




500 HLAONWD :
ﬁm%a 20T CRRREF MY, TB BRI
200D W ﬁw&a zaocbsagl 2,000 coRdtFNeR 3R SRBTON =NTVES ﬁ@c&i}ﬁa

-

a)
b)

FOBO&EOWD.

3)

From the following calculate cost driver rate:-

a)
b)
c)
d)
€)
f)

Purchase order cost
Material setup cost

Product packing cost
Machine testing cost
Maintenance & cleaning cost
Material handling cost

Cost allocation basis are:

1)
ii)
iii)
1v)
V)
vi)

FENT R&ENPOT ﬁagd 00T e:ﬁcfr{emgi FOR) LHECD.

Number of purchase order

Number of setup

Number of packaged product
Number of test
No. of batch run

No. of times material handled

a) DD =E3e3 afzgd

b) co3,n¥ X T a"zi

C) DBTFNY 002008 dzgj

d) o3 nyg ﬁaei dzgﬂ

e) TFHEB BB fgﬁaﬁi %,

) =osdn,nY B3 302000 o
B3, BOWF LBTNED

1) 00D BTeINY Foss,

11) mﬁaﬁﬁm 5os3,

i) 2003 P Fany Ros3,

iv) Eﬂ‘&feiﬂ@ X083,

V)  SBC0STOE Mooyng 083,
Vi)  RRONNY BF BOCDE T

90,000
3,00,000
2,00,000
4,00,000
1,15,000
1,50,000

50

200
5,00,000
4,000
100

500

90,000
3,00,000
2,00,000
4,00,000
1,15,000
1,50,000

50

200
5,00.,000
4,000
100

500
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6. The budgeted expenses for the production of 20000 units in a factory is given below

Elements of cost

Cost per unit

Rs.
Materials 150
[.abour 100
Variable overheads i
Fixed overheads (5,00,000) 25
Variable expenses (Direct) 20
Selling expenses (20% fixed) 25
Distribution expenses (25% fixed) 15
Administration expenses (1,00,000 fixed) 10

Prepare a flexible budget for the production of 10000 units.
055030 20000 0RREF HVFITHOD L0TInd SN 83 FFTOBEOS.

;s:.gm Ao =,8 ol n
Rs.
TOEON, NMED 150
FOWOF BT 3RO 100
LTINS WOLVRIE0 75
%ﬂ O0eF 3523 zﬁe;b (8%.5,00,000) 25
Alalopigerninide) ﬁwjﬁo 20
SRTES 3323 zﬁedo (20% Egacf) 25
ACief! a’aﬂlﬁ% (25% %ﬁ) 15
BEYS daﬁuz'i@és (1,00,000 fixed) 10

10000 conlesrne 20o0 e:'so:baﬂ ORI BCIROA.

SECTION-C
Wyen = A
Answer any Three questions, each correct answer carries 14 marks. (3x14=42)
CIRFETTR SR B,ZNer vuZO0. &8 FOINT LSTE 14 LOFND.

FIORFFROZT YRS B0 3,AX° W DFOA LWIOWD.

Explain the process of Performance Management Information System.
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8. Prepare a flexible budget from the following in.fﬂnnatinn for 8000 and 12000 units. For
production of 10000 units. The expenses incurred are as follows:

Particulars Per Unit
Rs.
Direct Material 120
Direct labour 60
Variable over heads | 50
Fixed over heads (Rs.3,00.000) 30
Variable expenses (Direct) 10
Selling expenses (10% fixed) 30
Administrative expenses 10
(Rs.1,00,000 fixed for all levels of production)
Distribution expenses (20% fixed) 10
Total cost 320

8000 ooz’ w030 12000 cdwees 3o eﬁmaﬁmw@{ TOTRILBOWND. &8 VNI ﬁz'c‘Ji@o
10000 otz nen ﬁe@z:s%ﬁzﬁ.

Anfofa =) LOWY oA
(Rs.)
SeT 3U5), TN, 120
260 8RO ' 60
WDSTNOD a’mwﬁz;:’d 50
X0 &oew F, (Te.3,00,000) 30
WETRME FeT 5%, 10
R0 3% (10% 40) - 30
DR, BOSTOR AT STEITIT
@3 (dw.1,00,000) 10
WITFD 5%, (20% A0) &, 10
BED) &5, 320

[P.T.O.
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10.

The bag manufacturing company sells different varities of bags where in the cost &
selling price is maintained same for all. The company wants to expand its business which
would have the following expenses & revenues

Selling price per bag Rs.300

Variable cost per bag Rs.195

Salesmen’s commission (variable) Rs.135 per bag fixed expenses includes - Rent Rs. 60,000
Salary - Rs.2,81,000, Advertisement - Rs. 79.000 Sundries Rs.30,000

You are required to calculate

a) Annual BEP in units & sales value

b) Profit/loss of the stores if 35,000 bags are sold.

2,0232 239, 7 BP0 FOTCI0 L.0TIE TWIRTWOOL NP ST L ﬁﬁ%*d: SRTET) 3
mé@om L50MEB0IT, 330000 ATFOAT. BT IL J{eab ﬁe;ﬁaﬂoac?

SRoow 2583, (2,00 m i) Rs.300

WM ﬁzs (2,000 m i) Rs. 195

BRTO3 dm@ (mcﬁmﬁ::ﬁ) (20T 239, i) Rs.15

AT D%, m@ﬁ Rs.60,000,80w¢ Rs.2, 81 ,000, 230t0cT80 33 Rs.79 ,000 923 323, Rs.30,000
é-‘l ﬁ@ﬁﬁ@ﬁ@a‘b 50T &B00D.

a) WONFT ﬁs:ﬂ:mé 290730 03REF A 2V Rs. nFQ,

b) 35,000 23, Y SROIO0T mzﬂ/ﬁm

The standard cost of a certain components in a Chemical mixture is
40% Material ‘X’ - Rs.90 per ton

60% Material “Y" - Rs. 70 per ton

A standard loss of 10% is expected in production.

Actual cost of materials used is :

90 tons - Material ‘X’ - Rs.94 per ton

160 tons - Material Y’ - Rs.56 per ton

Actual output is 230 tons

Calculate all material variances.

2,003 TIRICIINT 03, £903 &, RIESS SENTV -

40% ‘X’ Twemr Rs.90 T8 87

60% ‘Y’ @zogr Rs. 70 =,8 &33°N

gu3c®, 10% ORD T, [RES ﬁfﬁ@aeﬁﬁmﬁd.

SR 0T TN, WIN

90 835° ‘X’ Tenr X8 83N Rs.94

160 835 ‘Y’ Imogs 8,8 ¥a'n Rs.56

FORNE WBBI 230 b,ss‘ﬁe.#a

2 0603 NRONe0T DT, TEIN, 33,3, CNTFRO, FORS &R0,
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11. The budgeted overhead and cost driver volumes of Shiva Ltd. are as follows:
Cost Pool Budgeted | Cost Driver Budgeted
overheads volume Rs.
Rs.
Material Procurement 3,20,000 | No. of orders 800
Machine Set-up 3,00,000 | No. of setups 500
Méintenance 1.95.000 | Maintenance hours 3.000
Quality control 1,70,000 | No. of inspections 850
Machinery 425,000 | No. of machine hours 25000

The company has produced a batch of 3.000 components of ‘A’. Its material cost was
Rs.2,40,000 and labour cost was Rs.4.60,000. The usage of activities of this batch are as

follows:

Material orders

Setup of machines
Maintenance hours
No. of Inspections

Machine hours

30

35

700

40

2500

Calculate the cost driver rates that are used for computing the appropriate amount of overhead
to this batch and ascertain the cost of the batch of the component using the activity based

costing.

[P.T.O.
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] &3y OAUE' LoD SRECINT s30ee aSzgd DI LHOT TOBRED T8 FFTOROST
2, Xon, s SO | FY, W BOTRLD BRBLRT
SRET Jo=Nee oR. |
Soevsy, de.
AOON, 00D 3,20,000 | ede3nsmosd, 800
03203, WS 3,00,000 | = Ross, 500
QIF LN 1,95,000 | {Trmes notdned 3,000
mwm&i QEIFOD 1,70,000 ﬁﬁ:mgﬁﬁ@ maia, 850
oo s 4,25,000'| ooz, ne 5o 25000

BOTRAW 2,000 BTWHODY, 2.0 BoBE 3,000 wonedy A’ S FodROAT. Ams FowoN, e
&%, Rs.2,40,000 =020 309 0F Rs.4,60,000 GUTOIRENTOL WEDTLINY DT 88

FPTOB0ST.

TORON, NG &ST3eTried 30

03008, ToTS 35
e |

QWFHDED NOLINED | 700

DoREBWAT R0S, 40

03003, VTEREN T 2500

8 BORT ART@T ﬁaema’:‘zﬁzﬁ cﬁcﬁaﬂs:b NETT WRTEY NVTOIRCARTIT aﬁ’?,s 2IOT mmm
TOrO&EOWD B zswmsﬁ tﬁ@&é a?}z&ar WTON0T & 0BT wmcﬁsr 305)95&0&3@5
dz{gssb OB &RoD.




